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QUESTION 1

You have enabled traceoptions to log error messages. You want to have the messages displayed to your terminal
session automatically as they occur. 

Which command should you use in this scenario? 

A. file list 

B. request message terminal 

C. file show 

D. monitor start 

Correct Answer: D 

 

QUESTION 2

What are three types of routing instances? (Choose three.) 

A. VPN 

B. virtual-router 

C. policy 

D. VRF 

E. forwarding 

Correct Answer: BDE 

 

QUESTION 3

Which information would you find using the CLI help function? (Choose two.) 

A. message of the day 

B. tip of the day 

C. explanation for specific system log error messages 

D. explanation for specific traceoptions log messages 

Correct Answer: BC 

 

QUESTION 4
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Which CIDR notation is the equivalent of the subnet mask of 255.255.192.0? 

A. /18 

B. /19 

C. /17 

D. /20 

Correct Answer: A 

 

QUESTION 5

-- Exhibit -[edit interfaces ge-0/0/1] 

user@router# show 

unit 100 { 

vlan-id 100; 

family inet { 

address 10.1.1.1 /24; 

} 

} 

[edit interfaces ge-0/0/1] 

user@router# commit check 

[edit interfaces ge-0/0/1] 

\\'unit 100\\' 

Only unit 0 is valid for this encapsulation 

error: configuration check-out failed 

-- Exhibit -Referring to the exhibit, you are unable to commit the configuration for the ge-0/0/1 interface. 

What must you do to commit the configuration? 

A. You must set the vlan-tagging parameter under the [edit interfaces ge-0/0/1] hierarchy. 

B. You must use the rename command to change unit 100 to unit 0. 

C. You must set the encapsulation flexible-ethernet-services parameter under the [edit interfaces ge-0/0/1] hierarchy. 

D. You must set the encapsulation vlan-ccc parameter under the [edit interfaces ge-0/0/1 unit 100] hierarchy. 

Correct Answer: A 
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